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QUESTION 1
An architect is tasked with the following:

Build a private cloud solution for an organization using VMware vRealize Automation. This private cloud needs to
manage two different datacenters separated geographically. The private cloud solution needs to be highly available.

Which of the following approaches can the architect take to achieve this?
Note: VMware Identity Manager has been renamed as VMware Workspace ONE Access.

A. Deploy a Workspace ONE Access cluster in a multi-site design architecture with 3-nodes spanning both the
datacenters.

B. Deploy a 3-node Workspace ONE Access cluster in a single-site design architecture in one of the datacenters.
C. Deploy a single-node Workspace ONE Access instance in a single-site design architecture in one of the datacenters.
D. Deploy a Workspace ONE Access cluster in a multi-site design architecture with 3-nodes in each of the datacenters.

Correct Answer: D

QUESTION 2

An organization wants to implement a network topology to provide users with a one-way upstream access to the
external network.

Which two statements are true for implementing such a network profile type using NSX-T Data Center? (Choose two.)
A. The external network specified in the "Network Policies" tab will be used to assign an external IP to the VM

B. A DNAT rule is created o the Tier-1 router to allow the VM to communicate externally

C. The cloud template must use the "private" network profile type

D. The external network should be left blank in the "Network Policies” tab

E. An SNAT rule is created on the Tier-1 router to allow the VM to communicate externally

Correct Answer: AE

QUESTION 3

An architect is designing a new VMware vRealize Cloud Management solution. During the requirements
gathering workshop, the customer made the following comments:

The monthly uptime target of the cloud management solution must be 99.9%.

All components of the cloud management solution must be deployed with a N + 1 redundancy.

Latest 3V0-32.21 Dumps | 3V0-32.21 VCE Dumps | 3V0-32.21 Study Guide 2/4


https://www.geekcert.com/3v0-32-21.html
https://www.geekcert.com/3v0-32-21.html
https://www.geekcert.com/3v0-32-21.html

VCE & PDF https://lwww.geekcert.com/3v0-32-21.html
2024 Latest geekcert 3V0-32.21 PDF and VCE dumps Download

GeekCert.com

When creating the design documentation, how should these requirements be classified?
A. Recoverability

B. Manageability

C. Availability

D. Performance

Correct Answer: C

QUESTION 4

A company is planning to deploy a new cloud management solution that will allow business users to deploy servers via
a self-service portal. After the initial discovery workshop with the new service owner, the architect has gained the
following key information about the project:

In an effort to increase user experience, the IT Manager has requested that all deployments do not rely on
manual approvals.

The current IT team is made up of five engineers but only one engineer has any experience writing scripts
or automating server deployments.

The current version of the CMDB solution has no API available to create or destroy configuration items (ClI)
and there is no budget for upgrades.

Currently all CMDB activities are completed manually via service request with an SLA of 4 hours.

The customer has one data center with a requirement of protection against data center failure.

The expected availability SLA (measured monthly) will be 99.5%.

The deployment of a server is expected to take no longer than 2 hours.

Given the information provided, which two risks should the architect document within the design? (Choose
two.)

A. Allowing self-service deployments of servers by business users.

B. The lack of REST-API for IP address management solution.

C. The end to end server deployment cannot be achieved in the time window.

D. There is insufficient resources available to complete the project.

E. The customer only has a single data center location.

Correct Answer: BC
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QUESTION 5

An architect is responsible for designing a new Operations Management solution for a customer. The customer has
provided the following high-level information about their existing VMware Software Defined Data Center (SDDC)
environment:

The existing environment is located within a single geographical region.

The customer already has deployed a vSphere-based virtualization solution that spans two well-connected
physical locations.

The customer has recently upgraded all of their licenses to VMware vCloud Suite Advanced subscription.

The customer has already successfully deployed and configured vRealize Operations 8.x within the

VMware SDDC.

The customer would like to ensure that both specific event monitoring data and operations monitoring for

all of the VMware SDDC can be consolidated into a single user interface.

Which three recommendations should the architect make to meet the requirements? (Choose three.)

A. Configure vSphere integration in vRealize Log Insight 8.x

B. Configure vRealize Operations 8.x and vRealize Log Insight 8.x integration

C. Deploy vRealize Log Insight 8.x

D. Configure vRealize Operations 8.x and vRealize Log Insight Cloud integration

E. Deploy vRealize Log Insight Cloud

F. Configure vRealize Operations 8.x and vRealize Operations Cloud Federation

Correct Answer: BDF
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